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Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 
 
   

6. a) 

 Number of notebooks = n 

 Number of pencil cases = p 

 p + n = 30      (1) 

 9p + 9n = 270     (2) = (1) x 9 

 12p – 9n = 87     (3) 

 21p = 357 

 p = 17 

 Number of notebooks = n = 30 – 17 = 13 

 b) 

 Cost of all pencil cases = 12 x 17 = $204 

Ans:  (a)  13 
 (b)  $204 
 

 

 
7. Let total distance from house to park = 15u    (multiple of 3, 5) 

Remaining distance = 
2
3
  x 15u = 10u 

Walking distance =  
2
5
  x 10u = 4u 

Walking distance = 2.5 min x 80 m/min = 200 m 

4u = 200m 

u = 50 m 

Running distance =  
1
3
  x 15u = 5u = 5 x 50 = 250 m  

Running speed = 250 ÷ 3 = 83.3 m / min 

 
Ans:  83.3 m / min 

. 
 

 



P6 Maths SA2 2018 Paper 2 Worked Solutions – Temasek 
 

 www.sgtestpaper.com  3  
 

8. a) 

 In Year 2013 the height of mango tree was double that in 2011 

 b) 

 Average height from 2012 to 2015 = (50+70+95+130) ÷ 4 = 86.25cm 

    

 

 

 

 

 

 

 

         Ans:  (a)  2013 

 (b)  86.25cm 
 

 

9. a)  

Total buns sold last week = 2y x 5 + y + 50 + 3y – 15 = 14y + 35  

= 14 x 28 + 35  =427  

 b) Discounted price for each bun = 1.50 x 0.6 = $0.90 

 Total sales = 427 x 0.90 = $384.30 

  

 

 

 

 

 

 

 

 

Ans:   (a)  427 
 (b)  $384.30 
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10. Let final level at X = 4u 

 Final level at Y = u 

 Total volume at first = 90 x 35 = 3150 cm3  

 Total volume at last = 4u x 90 + u x 60 = 420 u 

 420u = 3150 

 u = 3150 ÷ 420 = 7.5 cm 

 Final level at X = 7.5 x 4 = 30 m   

  

 

 

 

 

 
 

Ans:  30 m   
 

 

11. Let area of paper at first = 40u 

2
3
  of remainder painted blue  

1
4
  of total  10u 

  
3
3
  of remainder  

3
2
 x 10u  = 15u 

 Area painted yellow = 
1
5
  x 40u = 8u 

 Area painted red = 40u – 15u – 8u = 17u 

 17u = 85 

 u = 5 

 Area of paper = 40 x 5 = 200 cm2 

 

 

Ans:  200 cm2 
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12. a) 

∠CBD = 180 – 80 – 90 = 10° 

 ∠BDC = (180 – 10) ÷ 2 = 85°   (isosceles triangle) 

 b) 

 ∠DBF = ∠BDC  = 85°    (alternate angle) 

 ∠BFG = DBF = 85°     (alternate angle) 

 ∠BFE = 180 – 85 = 95°  

 

 

 

 

Ans:   (a)  85° 
 (b)  95° 

 

 

13. a) 

 First 10km charges = 10 ÷ 0.2 x 0.1 = $5.00 

 Fare of last 6 km = 6000 ÷ 150 x 0.1 = $4.00 

 Taxi fare = 2.50 + 5.00 + 4.00 = $11.50 

 b) 

 Morning fare minus surcharge = 18 – 2 = $16 

 Fare after 10km = 16 – 2.50 – 5.00 = $8.50 

 Distance after 10km = 8.50 ÷ 0.1 x 150 = 12.75km 

 Total distance = 10 + 12.75 = 22.75 km 

  

 

 

   

Ans:   (a)  $11.50 

 (b)  22.75 km 
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14. Area of large quadrant = 
1
4
 x 

22
7

 x 28 x 28 = 616 cm2 

 Area of small quadrant = 
1
4
 x 

22
7

 x 14 x 14 = 154 cm2 

 Area of right side shaded areas  

= large quadrant – small quadrant – (rectangle –A) 

Difference in area of 2 shaded areas = large quadrant – small quadrant – 

rectangle + A – A 

= 616 -154 – 28 x 14 = 70 cm2 

  

 

 

 

         Ans:  70 cm2 

 

 

15. a)   

Number of small stars = 20 x 
5
4
  = 25 

 b) 

 25 small stars + 14  small stars = 12.48 m     

 Length of each small star = 12.48 ÷ 39 = 0.32 m 

 Length of each large star = (12.48 – 14 x 0.32) ÷ 20 = 0.4 m 

 Remainder number of large stars = 35 – 20 = 15 

 Length of 15 large stars = 15 x 0.4 =  6 m 

 Remainder number of small stars = 20 -14 = 6 

 Length of 6 small stars = 6 x 0.32 = 1.92 m 

 Length of remaining stars = 6 + 1.92 = 7.92 m     

         Ans: (a)   25 
         (b)   7.92 m   
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16. a) 

Ratio of number of men to adults  3 : 5  3u : 5u 

 Ratio of number of boys to children  1 : 2  1p : 2p 

 5u + 2p = 300    (1)  Total number of people 

 3u + 1p = 166    (2) 

 6u + 2p = 332    (3) = (2) x 2 

 u = 32      (4) = (3) – (1) 

 Number of adults = 5u = 5 x 32 = 160 

 b) 

 3 x 32 + 1p = 166    substitute u into (2) 

 p = 166 – 96 = 70 

Number of girls = 2p – 1p = 1p = 70 

  

             

         Ans:  (a)  160 

          (b)   70   

 
 

17. a)  
Let number of $5 notes at first = u 

 Number of $10 notes at first = p 
 u + p = 27       (1) 
 5u + 5p = 135      (2) = (1) x 5 
 In the end, 

 
1
4
 u = 0.4 (p + 12)      (3) 

 5u = 8p + 96       (4) = (3) x 20 
 5u – 8p = 96       (5) 
 13p = 39       (1) – (5) 
 p = 3 
 u = 27 – 3 = 24 
 Total value of $5 notes = 24 x 5 = $120 
  

b) 

 Total value at the end = 
1
4
 x 24 x 5 + (3 + 12) x 10 = $180 

Ans:  (a)  $120 
 (b)  $180 

 


